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f- = x " - x'3T Xk + × " - x'Ot x9+xEx4tx3tx-xt1
E Eg [ X]

Zahl Trreduziblerfouktore :
olim #zker(Q -I)= I

Satz 4.5 g - gcokfif
' )=xB+×l2+×l0tx9tx4tx3txt1

g£=xt1 ( ⇒text
)
" )

h=gcd(g. g
' ) =

X'2tx9tx3t1 ÷=xt1

h' = 12×1't 9×73×2=0 } 3.
Fallin Satz

4.5

geol Chen
' )= god (h ,o)=h

h=(x4tx3txt1)3
k=x4tx3txt1 ,h-gcotck.KZ/3t1ke-=xt1l'=o=sl=x3t1--(xtr)3



A Ring wit char p > o .

(at f) P= AP + fp f Fra
ist additive

-

⇒tip ke - xtl ⇒ k=(Xt 1)
4

he k3= te)4) 3=41+1312 aI=xt1

g = (xtl)
"
(Xtc ) = (XN )

"

fg=xt1
f- = (Xtc )

"
(Xtc ) = (Xtc )

'"

-

Man Se he Beispiel 4. r

Aufgobe 3.3.3



f- = 5×39+7×26 -
3 E IF,zEx]

f 's O faEFp AP -_ a

f= 513×39+713×25 -
313

= (5×3)/3 + (7×2)
'3
-

313

= ( 5×3+7×2 - 3)
13
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